





























```
G = (V, \Sigma, R, E), \text{ where } V = \{+, *, (, ), \text{ id}, E\}, \Sigma = \{+, *, (, ), \text{ id}\}, R = \{E \rightarrow E + E \\ E \rightarrow E + E \\ E \rightarrow E * E \\ E \rightarrow (E) \\ E \rightarrow \text{ id} \\\}
```



BNF for a Java Fragment <block> ::= {<stmt-list>} | {} <stmt-list> ::= <stmt> | <stmt-list> <stmt> の日本の <stmt> ::= <block> | while (<cond>) <stmt> | if (<cond>) <stmt> の日のシン do <stmt> while (<cond>); | <assignment-stmt>; | return | return <expression> 1 <method-invocation>;























Proving the Correctness of a Grammar $A^nB^n = \{a^nb^n : n \ge 0\}$ $G = (\{S, a, b\}, \{a, b\}, R, S),$ $R = \{S \rightarrow a S b$ $S \rightarrow \epsilon$ $\}$ • Prove that *G* generates only strings in *L*. • Prove that *G* generates all the strings in *L*.

